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Q.No. Questions Mark
SECTION A
1 LetU=14{1,2,3,45,6,7,8,9, 10}, P={1,2,5},Q = 1

{6, 7}. ThenP N Q"is:

(@) P (b) Q
(©Q (d)u
2 | The cardinality of the subset set of {x: xeN, x<10} is 1
(a) 1024 (b) 1023
(c) 2048 (d) 2043
3 |IfA={a,b,c}, B={b,c,d}, C={a,d,c}, then (A—B)x (BN C)= 1

(@){(a,0), (a,d)}
(b){(a, b), (c,d)}
(c) {(c,a), (a,d)}
(){(c,a), (a,d), (b,d)}

4 The third term of a GP is 4.The product of the five terms is: 1
(a)4® (b)4*
(c)4° (d)4°
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Which of the following statement is correct?

ONNO

a) A is subset of B

b) B is subset of A

c) U is subset of A and B
d) A and B are subsets of U

SECTION B

Find the sum of the series 6 + 66 + 666 + .......... upto n
terms.

Let A ={1,2,3,4,5,6}.Let R be the relation defined on A by
{(a,b):a,b € A, b is exactly divisible by A}

(1) Write R in roster form

(2) Find the domain, co-domain, range of R.

(1)Let A = { {a},b,{c, d},e}. Insert the appropriate symbol
€ or c in the

blank spaces.

(b) {c,d}------- A

(c) {{a} b} ------=-- A

(2)Write the interval (-2, 2 ] in set builder form and
represent it on the number line .

SECTION C

LetU={x:x€eN,x =<9}, A= {x:xisan even number, 0
<Xx<10}; B=42,3,5, 7} and c= {1,2,4,7} Find :

1 (AuB)

@ B-AnA-C)
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10

Answer the following questions:

(1)One day you saw an awesome video on YouTube. At 1pm
you shared a video link to 5 unique people. Then at 2pm
each of your friends shared it to 5 unique people. Then at
3pm each of their friends shared it with 5 unique people. If
it this pattern kept happening, then how many unique
people received this link by 6 pm.

(2)An insect population is growing in such a way that each
generation is 2.5 times as large as the previous one. If
there are 10,000 insects in the first generation, how many
are there in the 5th generation.

11

Case Study:
Let f and g be two real functions defined by :

f(x) =vx—1and g(x) =3 — 2x.
INPUT x
~+
(
FUNCTION f:

U

OUTPUT f(x)

Based on the above information ,answer the following
questions::
(@) Find the domain of f(x).

(b) Find the domain of ﬁ

(c) Find the domain of %(x)
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1) P
2) 1024

3) @{(a,0), (a,d)}
4) (c)4°
5) d) A and B are subsets of U

6) We need to find Sn=6+66+666+...to n terms
Sn=6(1+11+111+....to nterms)

=2(9+99+999+...10 N terms)
=2[(10~1)H(100~1)H(1000~1)+.... to n term]
=2[(10+102+103+....n terms)n]
Thus, Sn==-[( 10[10" ~1)-n]
7) A={1,2,3,4,6}
R={(a,b):a,beA,b is exactly divisible by a}
() R={(1,1),(1,2),(1,3),(1,4),(1,6),(2.2),(2,4).(2.,6).(3,3).(3,6).(4.4).(6,6)}
(if) Domain of R={1,2,3,4,6}
Range of R={1,2,3,4,6}
Codomain = A
8) (1)(a) {c,d} €A
(b) {{a},b} cA
Q){x:x €R,-2<x<2}
9)U={1,2,3,4,5,6,7,8,9}
A =1{2,4,6,8}
B=1{2,3,5,7} and c= {1,2,4,7}

1) (AUB)={2,3,4,5,7,8}
(AUB)’= {1,9}

2) (B-A)={357}
(A—C)={6,8}
B-A)n(A-C)={}
10) (1)GP is 5,25,125......

a=b,r=5



5 =20 = 7820 19530
(2) a=10,000r =2.5
as = ar* = 10,000 x 2.5*
= 39.0625% 10,000
= 390625
11) (a)[1, )
(b) R — {3}
(c) (1,00)



